Multiplicar Tres Polinomios (H)
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Simplifique cada expresion.

C(9m A+ T)(—m® + 4m*) (Tm® — 3m* + 6m?)

- (4b* + Tb*) (61 — 6b%)(8b° — Tb* + 3b?)

(=62 + 8)(—42° + 82)(32° — 92% + 1)

- (4m® + 4m*) (8m* + 5m?)(m* + Tm — 1)

(4v — 4) (=50 — 80%)(6v% 4+ 9v + 9)
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Multiplicar Tres Polinomios (H) Respuestas
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Simplifique cada expresion.

C(9m A+ T)(—m® + 4m*) (Tm® — 3m* + 6m?)

—63m!' + 230m!'Y + 55m° + 90m® + 168m”

- (4b* 4+ Tb*) (61 — 6b%)(8b° — Tb* + 3b?)

(-

19262 — 24bM — 3906 + 348b — 1260°

62 + 8)(—4a” + 82%)(32° — 9$2 + )
7227 — 4562° + 93627 — 65620 + 642°

(4m® + 4mh) (8m* + 5m?)(m? + Tm — 1)
= 32m" + 276m'"Y + 352m° + 88m® — 20m”

(4v — 4) (=50 — 80%)(6v% 4+ v + 9)

—1200" — 2520% — 960° + 180v* + 2883
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